ANNUAL REPORT

1970 AGRICULTURAL COMMISSIONER TULARE COUNTY

THE END OF THE TRAIL

The famous statue which is shown on our cover was created by James Earle Fraser for the Pan Pacific International Exposition in San Francisco in 1915. This statue was a plastic cast and not intended for the life it endured. The End of the Trail was obtained by Tulare County in 1916 and remained in Mooney Grove in Visalia, California until 1968 when it was moved to the Cowboy Hall of Fame and Western Heritage Center in Oklahoma City. In exchange for the statue, Tulare County will receive a 20 ft. bronze casting from the original. This bronze, which was cast in Italy, is to be dedicated in July, 1971, at Mooney Grove, where it will be a permanent reminder of the works of James Earle Fraser as will the restored original plaster cast which will remain in Oklahoma City at the Cowboy Hall of Fame.

Mr. Fraser's "End of the Trail" was acclaimed the most outstanding art depicting America's relationship to the changing of the past.

COVER PHOTO BY
NATIONAL COWBOY HALL OF FAME
AND WESTERN HERITAGE CENTER
OKLAHOMA CITY

Reproduced by: DUPLICATING

Horticultural Commissioner (rop Report of Tulare County 1890.

At this time Kings County was included in Tulare County. Tulare County had a Board of Horticultural Commissioners consisting of three commissioners.

REPORT OF THE TULARE COUNTY BOARD

To the honorable the State Board of Horticulture:

Gentlemen: We have the pleasure of submitting to you our annual report for Tulare County.

This has been a prosperous year with our people, and there is so much to report connected with our work we find it difficult to be brief enough.

The valley of Tulare is distinct from the San Joaquin Valley. All the waters of this valley run into Tulare Lake, and has no outlet to the sea, while the waters of the San Joaquin Valley run into the bay of San Francisco.

The soil is different from anything in the State. Artesian boning shows the soil to be alluvial for at least twelve hundred feet, apparently as fertile on the bottom as the surface.

Tulare Valley embraces about half of Fresno, and all of Tulare and Kern Counties, and is as large as the States of Rhode Island, Connecticut, and Massachusetts.

Tuler (ounty is the center of this valley, and is watered by Kings, Kaweah, Tule, White, and Kern Rivers. These rivers rise in the high Sierras, whose tops are covered with snow all summer, and furnish a never failing supply of water for irrigation, and run west and south to Tulare Lake, traversing the county from east to west, so that the whole area may be irrigated. Running from these rivers are deep sloughs traversing the whole country as they meander toward the lake, making all these rivers like the Mississippi, which empties its waters into the Gulf by many mouths. These sloughs are deep and drain the country when irrigated, so that our lands will never become impregnated with alkali as the lands of India, and even portions of our own State. A large portion of the land of Tulare (ounty is irrigated by percolation.

This can be done nowhere else so perfectly in this State as here. This reduces the expense of irrigation almost to nothing; a ditch full of water will wet the land for half a mile. This is considered a dry country, five and one half to six inches being our average rainfall, and until within the last ten or twelve years the waters of our rivers were not used to irrigate.

Herds of cattle and horses roamed over the plains of Tulare County, and the rearing of these was the only industry known to the people.

First, what farming there was, met with such poor success that the land became known as the "Land of the Devil." This is all changed now. The county this year has exported over two million sacks of wheat, being the banner wheat county in the State. But fruit culture is taking the lead, and the wheat fields, with their steam harvesters, are rapidly disappearing, and the orchard and vineyard is dotting the plains.

It is almost impossible to give even an approximation of fruit shipped from this county. From Hanford there were shipped this season eight hundred thousand pounds of dried fruit, and three hundred thousand of green. Tulare shipped two hundred thousand pounds of green fruit. Visalia, two hundred and eighty thousand pounds of dried, and two hundred thousand pounds of green fruit.

In this county all deciduous fruits do well, and along the foothills oranges and lemons grow as well as anywhere in the State. The olive will grow anywhere in the valley, and the English walnut does moderately well in the foothills.

Last season five thousand five hundred acres were planted to raisin grapes in the Lucerne District of Tulare (ounty, and perhaps as many acres in the other portions of the county. This next season many more acres will be planted to vines. More vines are rooted this season than at any time, and many of time are sold already, to be planted next spring.

The French prune on peach stock does exceptionally well all over Tulare (ounty. One tree, six years old, at Visalia, yielded this year one thousand one hundred and two pounds. One at Grangeville, seven years old, yielded one thousand one hundred and forty pounds this season.

Prune orchards will yield in Tulare County from five hundred to seven hundred pounds per tree when six years old, grafted on peach stock, and this season have produced \$1,000 per acre.

Peaches do better here than in any other part of the State, yielding this season from \$400 to \$600 per acre, some weighing as high as twenty and one half ounces.

Insect pests, for some cause not clearly defined, have disappeared almost entirely in the western part of the county. The lime, sulphur, and salt compound has been used unsparingly against the San Jose scale, and orchards not sprayed are as clean as those that were. The season and parasites likely have done most of the good work.

All along Tule River, and around Porterville, the San Jose scale is still doing its deadly work. All the apples and pears are spotted with scale. But little has been done to destroy the insect. The woolly achis and codlin moth are both very troublesome in this district.

Around Visalia, insect pests are kept in check, and the fruit is clean. The same may be said of Tulare.

It is difficult to predict the future of this county. Unless some calamity befalls our fruit and raisin industry, within the next five years this will be the center of the fruit and raisin industry of the State.

Respectfully submitted.

N. W. Motherall,

I. H. Thomas,

I. N. Wright,

Commissioners



OFFICE OF

TULARE COUNTY AGRICULTURAL COMMISSIONER

COUNTY CIVIC CENTER
VISALIA, CALIFORNIA 93277

1970

TO JERRY FIELDER, DIRECTOR STATE DEPARTMENT OF AGRICULTURE

AND

THE HONORABLE BOARD OF SUPERVISORS TULARE COUNTY

The Agricultural Code states in Section 2279; "The Commissioner shall compile reports of the condition, acreage, production, and value of the agricultural products of his county. The Commissioner may publish such reports, and shall transmit a copy thereof to the Director."

Insofar as possible, the acreage represents "net planted" and the value of all crops is f.o.b. basis - not what the farmer received. While this is income to Tulare County, the cost of producing, picking, hauling, packing and otherwise preparing for market is deducted from these figures, and does not necessarily show the financial benefits that the farmer receives from any given commodity.

The information in this report is from many and varied sources and is as accurate as is possible. Our entire staff assisted in the compilation of these figures, also we are indebted to the many individuals and organizations for their help and cooperation in making available to this department their records and information. We wish to express our sincere appreciation for their valuable help.

Respectfully submitted,

Elvin O. Mankins

Agricultural Commissioner

COUNTY OF TULARE

DIRECTOR OF AGRICULTURE - STATE OF CALIFORNIA JERRY FIELDER

TULARE COUNTY BOARD OF SUPERVISORS RAYMOND J. MULLER, CHAIRMAN

ROBERT E. HARRELL FRED BATKIN

DONALD M. HILLMAN CHARLES CUMMINGS

ELVIN O. MANKINS, AGRICULTURAL COMMISSIONER

TULARE COUNTY AGRICULTURAL ACREAGE STATISTICS

ORCHARD CROPS	HEARING ACREAGE	NON-BEARING ACREAGE	TOTAL ACREAGE
CITRUS			
Grapefruit	99	49	148
Lemons	1,862		
	-	1,571 O	3,433
Limes	5	-	5
Navels Valenci a s	42,512	14,734	57 , 246
	22,473	2,625	25,098
Tangerines	91.2	298	1,210
TOTAL	67 , 863	19,277	87,140
DECIDUOUS AND GRAPES			
Almonds	963	2,615	3,578
Apples	151	32	183
Apricots	151	97	248
Avocados	38	199	237
Cherries	22	35	57
Figs	158	3	161
Grapes		•	
Table	26,912	213	27,125
Raisin	34,105	380	34,485
Wine	6,854	877	7,731
Nectarines	2,277	1,611	3,888
Olives	11,650	2,613	14,263
Peaches	,0,0	~,01	24,
Cling	2,683	837	3,520
Freestone	2,227	744	2,971
Pears & Apple Pears	29	80	109
Plums	7,972	1,458	9,430
Prunes	2,483	1,550	4 , 033
Persimmons	194	51.	4 , 055 245
Pistachio Nuts	139	166	305
	728	204	
Pomegranates Quince			932
	32	44	76
Walnuts	16,064	7,480	23,544
TOTAL	115,832	21,289	137,121
Total Grapes	67,871	1,470	69,341
Total Orchard Crops	115,824	39,096	154,920
TOTAL	183,695	40,566	224,261

FIELD CROPS: ACREAGE, PRODUCTION AND VALUE - 1969 - 70

				Produc		_	lue	
Crop	Year	Harvest e d Acreage	Per Acre	Total	Unit	Per Unit	Total	
Barley	1970 1969	75,400 84,900	1.88 1.20	142,000 102,000	Ton Ton	46.00 50.50	6,532,000 5,151,000	
Beans - Dry	1970 1969	7,000 7,000	•90 •95	6,300 6,650	Ton Ton	155.00 180.00	977,000 1,197,000	
Corn - Field	1970 1969	11,500 14,790	3.15 3.00	36,230 44,370	Ton Ton	58.00 51.00	2,101,000 2,263,000	
Cotton - Lint	1970 1969	118,400 145,000	1.50 1.53	177,600 221,850	B al e B al e	125.00 117.50	22,200,000 26,067,000	
Cotton - Seed	1970 1969	X	X X	77,700 95,000	Ton Ton	67.85 38.00	5,272,000 3,610,000	
Hay - Alfalfa	1970 1969	100,000 111,000	8.16 5.65	800,000 611,000	Ton Ton	30.50 28.50	24,400,000 17,414,000	
Processed	1970 1969	X X	X	16,000 16,100	Ton Ton	47.87 43.00	766,000 692,000	
Grain	1970 1969	4,100 5,600	1.90 1.90	7,790 10,640	Ton Ton	27.00 24.50	210,000 261,000	
Oats	1 <i>9</i> 70 1 <i>9</i> 69	3,500 2,300	1.06 1.05	3,710 2,420	Ton Ton	51.00 50.00	189,000 121,000	
Pasture & Range Irrigated	1970 1969	22,400 25,600	X X	X	Acre Acre	75.00 75.00	1,680,000 1,920,000	
Native	1970 1969	900,000 900,000	X	X	Acre Acre	4.50 4.50	4,050,000 4,050,000	
Other	1970 1969	5,000 5,500	X	X	Acre Acre	10.00 10.00	50,000 55,000	
Rice	1 <i>9</i> 70 1969	545 920	2.25 2.00	1,230 1,840	Ton Ton	90.00 98.00	111,000 180,000	
Safflower	1970 1969	1,190 280	.6250 .75	744 210	Ton Ton	100.00	74,400 16,800	
Seed Screening	1970 1969	X X	X	178 341	Ton Ton	29.43 23.64	5,240 8,060	
Silage	1970 1969	26,900 34,510	23.00 18.00	619,000 621,000	Ton Ton	5.50 5.75	3,405,000 3,571,000	

FIELD CROPS: ACREAGE, PRODUCTION AND VALUE - 1969 - 70

				Product	tion	Va	lue
Crop	Year	Harvested Acreage	Per Acre	Total	Unit	Per Unit	Total
Sorgum - Grain	1 97 0	30,000	2.18	65 , 400	Ton	52.00	3,401,000
	1969	46,400	2.05	95 , 120	Ton	45.58	4,336,000
Straw	1970	X	X	11,508	Ton	12.75	147,000
	1969	X	X	23,100	Ton	12.25	283,000
Sugar Beets	1 97 0	12,310	24.00	295,000	Ton	12.83	3,785,000
	1969	13,149	16.05	211,000	Ton	12.70	2,680,000
Wheat	1970	11,000	2.20	24,200	Ton	46.00	1,113,000
	1969	14,900	1.31	19,519	Ton	51.33	1,002,000
TOTAL	1 97 0 1969		_				80,469,000 74,878,000

SEED CROPS: ACREAGE, PRODUCTION AND VALUE - 1969 - 70

				Produc	tion	Valu	ie
Crop	Year	Harvested Acreage	Per Acre	Total.	Unit	Per Unit	Total
Beans - Blackeye #5							
Registered	1970	11	•90	10	Ton	240.00	2,400
or Certified	1969	117	1.00	117	Ton	240.00	28,100
Barley - Registered							
or Certified	1970	404	1.99	804	Ton	90.00	72,400
	1969	392	2.25	882	Ton	95.00	83,800
Oats - Registered or Certified							
Rapida	1970	19	1.30	25	Ton	110	2 , 750
•	1969	X	X	X	Ton	X	X
Sierra	1970	x	x	X	x	X	X
	1969	221	1.75	387	Ton	110.00	42,600
Wheat - Registered							
or Certified	1970	125	1.25	156	Ton	120.00	18,700
	1969	31	2.75	85	Ton	120.00	10,200
TOTAL	1970						96,300
	1969						165,000

				Produ	ction	Val	
Crop	Year	Harvested A <u>creag</u> e	Per Acre	Total	Unit	Per Unit	Total
		<u></u>			-	-	
Asparagus - Fresh	1970	317	2.66	717	Ton	408.00	293,000
	1969	294	2,27	506	Ton	267.00	135,000
Processed	1970	X	X	126	Ton	295.00	37,200
	1969	X	X	161	Ton	285.00	45,900
Beans - Green							
Fresh Market	1970	52	1.92	100	Ton	464.00	46,400
1100111100	1969	√2 48	1.82	87	Ton	415.00	36 ,1 00
	1,0,	40		01	1011	417,000	J0 ,1 00
Processed	1970	1,805	3.24	5,848	Ton	109.00	637,000
	1969	1,500	3.50	5,250	Ton	95.00	499,000
Corn - Sweet	1970	12	2.43	29	Ton	191.00	5 , 540
	1969	13	2.44	32	Ton	192.00	6,140
Cucumbers - Fresh	1970	100	5.27	527	Ton	290.00	153,000
Oddanoorb Trobh	1969	92	6.09	560	Ton	278.00	156,000
Transpared	7 0770	21.0	77 22	2 2 20	т	40 m	1(1,000
Processed	1970	210	11.33	2,380	Ton	68.90	164,000
	1969	155	12.00	1,860	Ton	73,50	137,000
Egg Plant	1970	67	7.38	494	Ton	223.00	110,000
	1969	15	15.00	225	Ton	212.00	47,700
Lettuce - Mixed	1970	170	9.47	1,610	Ton	89.00	143,000
	1969	30	12.39	372	Ton	138.00	51,300
Melons - Cantaloupe	1970	X	X	x	X.	Х	Х
Merons - Cantaroupe	1969	55	10,38	5 7 1	Ton	96.00	54 , 800
	1,0,	"	10,00	711	1011	70.00	74,000
C ra nsh aw	1970	72	4.74	341	Ton	175.00	59 , 700
	1%9	35	9.43	330	Ton	162.45	53,600
Honey Dew - Fresh	1970	745	15.00	4,668	Ton	110.00	513,000
	1969	590	8.87	4,750	Ton	85.50	406,000
Processed	1970	X	X	6,507	Ton	10.00	65,000
riocesseu	1969	X	X	483	Ton	10.00	4,830
	1/0/	Α.	Α.	40)	1011	10,00	4,000
Persian	1970	30	4.93	148	Ton	200,00	29,600
	1%9	15	8.60	129	Ton	142.50	18,400
Casaba	1970	35	4.77	167	Ton	167.00	27,900
04045-	1%9	25	7.64	191	Ton	128.25	24,500
Mot ownell as a	1.070	us	0.0	1 150	т	10.00	107 000
Watermelons	1970	448	9.94	4,453	Ton	40,00	187,000
	1969	401	7.25	2,907	Ton	30.25	87 , 900

VEGETABLE CROPS: ACREAGE, PRODUCTION AND VALUE 1969 - 70

Potatoes - Market 1970 615 20.10 6,982 Ton 88.00 614,000 1969 2,160 16.86 16,438 Ton 52.80 868,000 Culls 1970 X X 5,380 Ton 4.00 21,500 1969 X X 19,980 Ton 4.00 79,900 Squash 1970 148 7.67 1,135 Ton 223.00 253,000 1969 151 6.17 932 Ton 207.49 193,000					Produc		Valu	<u>~~</u>
Processed 1970 110 19.00 2,090 Ton 26.00 54,300 1969 X X X X X X X X X X X X X X X X X X	Crop 	Year			Total	Unit		Total
Processed 1970 110 19.00 2,090 Ton 26.00 54,300 1969 X X X X X X X X X X X X X X X X X X	0	3.000	36	7.7	T.	34	3.0	v
Processed 1970 110 19,00 2,090 Ton 26,00 54,300 1969 X X X X X X X X X X X X X X X X X X	Onlons							
Peas - Green 1970 66 2.50 165 Ton 216.00 35,600 1969 210 1.30 273 Ton 294.00 80,300 Peppers - Bell 1970 130 8.38 1,089 Ton 110.00 120,000 73,700 (Green Wt.)-Chili 1970 18 2.50 45 Ton 380.00 17,100 1969 122 5.00 610 Ton 76.00 46,400 (Dry Wt.)-Chili Processed 1970 200 1.50 300 Ton 460.00 138,000 1969 150 1.75 263 Ton 400.00 105,000 Pimento 1970 X X X X X X X X X X X X X X X X X X X		1969	43	3.45	148	Ton	147.00	21,700
Peas - Green 1970 66 2.50 165 Ton 216.00 35,600 1969 210 1.30 273 Ton 294.00 80,300 Peppers - Bell 1970 130 8.38 1,089 Ton 110.00 120,000 73,700 (Green Wt.)-Chili 1970 18 2.50 45 Ton 380.00 17,100 1969 122 5.00 610 Ton 76.00 46,400 (Dry Wt.)-Chili Processed 1970 200 1.50 300 Ton 460.00 138,000 1969 150 1.75 263 Ton 400.00 105,000 Pimento 1970 X X X X X X X X X X X X X X X X X X X	Processed	1.970	110	1.9.00	2.090	Ton	26,00	54.300
1969 210 1.30 273 Ton 294.00 80,300 1969 65 3.52 229 Ton 322.00 73,700 1969 65 3.52 229 Ton 322.00 73,700 1969 122 5.00 610 Ton 76.00 46,400 1969 122 5.00 610 Ton 76.00 46,400 1969 150 1.75 263 Ton 460.00 138,000 1969 150 1.75 263 Ton 400.00 105,000 1969 205 8.00 1,640 Ton 82.00 134,000 1969 205 8.00 1,640 Ton 82.00 134,000 1969 5 10.00 50 Ton 300.00 15,00								
1969 210 1.30 273 Ton 294.00 80,300 1969 65 3.52 229 Ton 322.00 73,700 1969 65 3.52 229 Ton 322.00 73,700 1969 122 5.00 610 Ton 76.00 46,400 1969 122 5.00 610 Ton 76.00 46,400 1969 150 1.75 263 Ton 460.00 138,000 1969 150 1.75 263 Ton 400.00 105,000 1969 205 8.00 1,640 Ton 82.00 134,000 1969 205 8.00 1,640 Ton 82.00 134,000 1969 5 10.00 50 Ton 300.00 15,00	Daniel Are	1.000	//	0.50	3/5		03/ 00	05 (00
Peppers - Bell 1970 130 8.38 1,089 Ton 110.00 120,000 73,700 (Green Wt.)-Chili 1970 18 2.50 45 Ton 380.00 17,100 1969 122 5.00 610 Ton 76.00 46,400 (Dry Wt.)-Chili 1970 200 1.50 300 Ton 460.00 138,000 1969 150 1.75 263 Ton 400.00 105,000 Pimento 1970 X X X X X X X X X X X X X X X X X X X	reas - Green							
1969 65 3.52 229 Ton 322.00 73,700		1969	210	1.30	273	Ton	294.00	80,300
1969 65 3.52 229 Ton 322.00 73,700	Peppers - Rell	1970	130	8.38	1.089	Ton	110,00	120,000
(Green Wt.)-Chili 1970 18 2.50 45 Ton 380.00 17,100 1969 122 5.00 610 Ton 76.00 46,400 (Dry Wt.)-Chili Processed 1970 200 1.50 300 Ton 460.00 138,000 1969 150 1.75 263 Ton 400.00 105,000 Pimento 1970 X X X X X X X X X X X X X X X X X X X	ropport nom							•
1969 122 5.00 610 Ton 76.00 46,400		1707	0)	یر ور	227	1011	المحرو	100
1969 122 5.00 610 Ton 76.00 46,400	(Green Wt.)-Chili	1970	18	2.50	45	Ton	380.00	17,100
(Dry Wt.)-Chili Processed 1970 200 1.50 300 Ton 460.00 138,000 1969 150 1.75 263 Ton 400.00 105,000 Pimento 1970 X X X X X X X X X X X X X X X X X X X	(31 11 - 0, 11							
Processed 1970 200 1.50 300 Ton 460.00 138,000 1969 150 1.75 263 Ton 400.00 105,000 Pimento 1970 X X X X X X X X X X X X X X X X X X X		± /0 /	~	7,00	010	1011	10.00	409400
Pimento 1970 X X X X X X X X X X X X X X X X X X X		2.000	500	7 70	200	_	. (0.00	704.000
Pimento 1970 X X X X X X X X X X X X X X X X X X X	Processed							
Julipino 1970 X X X X X X X X X X X X X X X X X X X		1969	150	1.75	263	Ton	400.00	105,000
Julipino 1970 X X X X X X X X X X X X X X X X X X X	Pimento	1970	X	x	X	x	X	Х
Julipino 1970 X X X X X X X X X X X X X X X X X X X	1 20114 0							
1969 5 10.00 50 Ton 300.00 15,000 Potatoes - Market 1970 615 20.10 6,982 Ton 88.00 614,000 1969 2,160 16.86 16,438 Ton 52.80 868,000 Culls 1970 X X 5,380 Ton 4.00 21,500 1969 X X 19,980 Ton 4.00 79,900 Squash 1970 148 7.67 1,135 Ton 223.00 253,000 1969 151 6.17 932 Ton 207.49 193,000 Tomatoes - Fresh 1970 1,248 16.77 20,929 Ton 339.00 7,095,000 1969 1,346 20.03 26,960 Ton 288.77 7,785,000 Processed 1970 X X X X X X X X X X X 1969 913 22.00 20,086 Ton 27.50 552,000		1/0/	20)	0,00	1,040	1011	O≈ , OO	1)4,000
1969 5 10.00 50 Ton 300.00 15,000 Potatoes - Market 1970 615 20.10 6,982 Ton 88.00 614,000 1969 2,160 16.86 16,438 Ton 52.80 868,000 Culls 1970 X X 5,380 Ton 4.00 21,500 1969 X X 19,980 Ton 4.00 79,900 Squash 1970 148 7.67 1,135 Ton 223.00 253,000 1969 151 6.17 932 Ton 207.49 193,000 Tomatoes - Fresh 1970 1,248 16.77 20,929 Ton 339.00 7,095,000 1969 1,346 20.03 26,960 Ton 288.77 7,785,000 Processed 1970 X X X X X X X X X X X 1969 913 22.00 20,086 Ton 27.50 552,000	Julipino	1970	X	X	Х	Х	X	Х
1969 2,160 16.86 16,438 Ton 52.80 868,000 Culls 1970 X X 5,380 Ton 4.00 21,500 1969 X X 19,980 Ton 4.00 79,900 Squash 1970 148 7.67 1,135 Ton 223.00 253,000 1969 151 6.17 932 Ton 207.49 193,000 Fomatoes - Fresh 1970 1,248 16.77 20,929 Ton 339.00 7,095,000 1969 1,346 20.03 26,960 Ton 288.77 7,785,000 Processed 1970 X X X X X X X X 1969 913 22.00 20,086 Ton 27.50 552,000	·1							15,000
1969 2,160 16.86 16,438 Ton 52.80 868,000 Culls 1970 X X 5,380 Ton 4.00 21,500 1969 X X 19,980 Ton 4.00 79,900 Squash 1970 148 7.67 1,135 Ton 223.00 253,000 1969 151 6.17 932 Ton 207.49 193,000 Fomatoes - Fresh 1970 1,248 16.77 20,929 Ton 339.00 7,095,000 1969 1,346 20.03 26,960 Ton 288.77 7,785,000 Processed 1970 X X X X X X X X 1969 913 22.00 20,086 Ton 27.50 552,000	Potatoos Manisot	1070	61.5	20 10	6 002	Ψоп	ØØ 00	614, 000
Culls 1970 X X 5,380 Ton 4.00 21,500 1969 X X 19,980 Ton 4.00 79,900 Squash 1970 148 7.67 1,135 Ton 223.00 253,000 1969 151 6.17 932 Ton 207.49 193,000 Tomatoes - Fresh 1970 1,248 16.77 20,929 Ton 339.00 7,095,000 1969 1,346 20.03 26,960 Ton 288.77 7,785,000 Processed 1970 X X X X X X X X X X 1969 913 22.00 20,086 Ton 27.50 552,000 TOTAL 1970 10,820,000	Polatoes - Market							
1969 X X 19,980 Ton 4.00 79,900 Squash 1970 148 7.67 1,135 Ton 223.00 253,000 1969 151 6.17 932 Ton 207.49 193,000 Tomatoes - Fresh 1970 1,248 16.77 20,929 Ton 339.00 7,095,000 1969 1,346 20.03 26,960 Ton 288.77 7,785,000 Processed 1970 X X X X X X X X X 1969 913 22.00 20,086 Ton 27.50 552,000		1969	2,160	T0*80	16,438	Ton	52.80	868,000
1969 X X 19,980 Ton 4.00 79,900 Squash 1970 148 7.67 1,135 Ton 223.00 253,000 1969 151 6.17 932 Ton 207.49 193,000 Tomatoes - Fresh 1970 1,248 16.77 20,929 Ton 339.00 7,095,000 1969 1,346 20.03 26,960 Ton 288.77 7,785,000 Processed 1970 X X X X X X X X X X X X X 1969 913 22.00 20,086 Ton 27.50 552,000	Culls	1970	Х	Х	5,380	Ton	4.00	21,500
1969 151 6.17 932 Ton 207.49 193,000 Fomatoes - Fresh 1970 1,248 16.77 20,929 Ton 339.00 7,095,000 1969 1,346 20.03 26,960 Ton 288.77 7,785,000 Processed 1970 X X X X X X X X X X X X X X X X 1969 913 22.00 20,086 Ton 27.50 552,000 FOTAL 1970 10,820,000		1969				Ton	4.00	79,900
1969 151 6.17 932 Ton 207.49 193,000 Fomatoes - Fresh 1970 1,248 16.77 20,929 Ton 339.00 7,095,000 1969 1,346 20.03 26,960 Ton 288.77 7,785,000 Processed 1970 X X X X X X X X X X X X X X X X 1969 913 22.00 20,086 Ton 27.50 552,000 FOTAL 1970 10,820,000	Sausch	1.97 0	1 <i>l.</i> Ø	7 67	1 135	Ton	223 00	253 000
Tomatoes - Fresh 1970 1,248 16.77 20,929 Ton 339.00 7,095,000 1969 1,346 20.03 26,960 Ton 288.77 7,785,000 Processed 1970 X X X X X X X X X X X X X X X X X X X	Dquasii							
1969 1,346 20.03 26,960 Ton 288.77 7,785,000 Processed 1970 X X X X X X X X X X X X X X X X 1969 913 22.00 20,086 Ton 27.50 552,000 TOTAL 1970 10,820,000		1707	1)1	0.17	724	TOH	207.47	193,000
Processed 1970 X X X X X X X X X X X X X X X 1969 913 22.00 20,086 Ton 27.50 552,000	Tomatoes - Fresh					Ton		
1969 913 22.00 20,086 Ton 27.50 552,000 TOTAL 1970 10,820,000		1969	1,346	20.03	26,960	Ton	288.77	7,785,000
1969 913 22.00 20,086 Ton 27.50 552,000 TOTAL 1970 10,820,000	Processed	1 970	Y	¥	Ψ.	¥	Y	y
TOTAL 1970 10,820,000	11000000							
		±/ U 7	(±)	22,00	20,000	1011	~ (•)U	772,000
· · · · · · · · · · · · · · · · · · ·						-		
	TOTAL	1970						10.820.000

				December :	A 2	77-7-	
2	37	**	3	Produc		<u>Valu</u>	
Crop	Year 	Harvested Acreage	Per Acre	Total	Unit	Per Uni t	Total
133- Mach -	7.070	062		171	m	3 300 00	1/1 000
Almonds - Meats	1970	963	•43	414	Ton	1,120.00	464,000
	1969	374	•33	123	Ton	1,200.00	148,000
Apples - Fresh	1970	151	4.28	560	Ton	190.00	106,000
ubbron - 1-44-	1%9	151	9.80	680	Ton	198.00	135,000
	··· / ·· /		/=		1011	- /~=~-	
Processed	1970	X	X	85	Ton	35.00	2,980
	1%9	X	X	800	Ton	40.00	32,000
· · · · · · · · · · · · · · · · · · ·	7 ~7 0	2 63	77 6 7	7 (00	-	242.00	: (2, 200
Apricots - Fresh	1970	151	11.81	1,600	Ton	289.00	462,000
	1969	115	11.50	1 , 163	Ton	271.00	315,000
Processed	1970	x	X	182	Ton	73.00	13,300
2 = 0 000 0 0 0	1969	X	X	160	Ton	125.00	20,000
							~5,555
Avocados	1970	38	1.99	76	Ton	555.00	42,000
	1969	38	1.40	53	Ton	565.00	29,900
D. II. was do a	7 (77 0	7.5	7.5	75	7.5	~=	
Bushberries - Fresh	1970	X	X	Х	X	X	X
	1969	2	3 .5 0	7	Ton	400.00	2,800
Cherries	1970	22	1,30	29	Ton	733.00	21,300
OIDII 100	1969	22	2.40	53	Ton	600.00	31,800
	,,		~ ⊕ ~~~	7,5	1011	000,00	22,000
Figs	1970	158	3.26	X	Х	X	X
	1969	158	3.00	Х	X	Х	Х
Fresh	1970	v	v	201	Ton	256 00	126 000
rresn	1970 1969	X X	X X	381	Ton Ton	356.00	136,000
	エブロブ	Λ.	Λ.	349	1011	237,00	83,000
Processed	1 <i>9</i> 70	X	X	134	Ton	290,00	38,900
••••	1969	X	X	125	Ton	240.00	30,000
					•	· · · · · - · -	·
Grapes - Table	1970	26,912	4.55	Х	Х	Х	56,682,000
	1969	27,015	5.04	Х	Х	Х	39,803,000
Emnanon	1970	v	v	49 21.0	Фon	323.00	22,074,000
Emperor	1969	X X	X X	68,340	Ton		
	T203	Α.	A	84,290	Ton	187.00	15,762,000
Almeri a	1970	X	X	5,143	Ton	326.00	1,677,000
 -	1969	X	X	5,801	Ton	125.00	725,000
				• •		-	·
Ribie r	1970	X	X	19,507	Ton	354.00	6,905,000
	1%9	Х	Х	19,359	Ton	219.00	4,240,000
	7.0770			2 10/	_	227 00	~
White Malaga	1970	X	X	2,496	Ton	201.00	502,000
	1%9	Х	Х	3 , 258	Ton	62.50	204,000
Red Malaga	1970	X	X	3,539	Ton	326.00	1,154,000
There started	1969	X	X	3 , 872	Ton	279.00	1,080,000
	/-/		44	2,014	1011	-1700	_,000,000

				Produc	ction	Val	Lue
Crop	Year	Harvested Acreage	Per Ac re	Total	Unit	Per Unit	Total
	7.070						7 000 000
Muscats	1970 1969	X X	X X	37,800 37,766	Ton Ton	51.00 46.50	1,928,000 1,756,000
	1707	Α.	Α.	31,100	1011	40.00	1,70,000
Cardinal	197 0	X	Х	1,903	Ton	309.00	588,000
	1%9	Х	X	1,588	Ton	212,00	337,000
<u>Italia</u>	1970	X	x	2,898	Ton	272.00	788,000
Toama	1969	X	X	3 , 756	Ton	171.00	642,000
	_, .			2,12		_,_,	•
Miscellaneous	1970	X	X	18,730	Ton	372.00	6,968,000
	1969	Х	Х	14,240	Ton	188,00	2,677,000
Thompson - Fresh	1970	x	Х	42,336	Ton	333.00	14,098,000
2	1969	X	X	61,900	Ton	200.00	12,380,000
					_		
C a nning	1970 1969	X X	X X	18,500	Ton	73.50 60.00	1,360,000
	T203	Α.	Α.	21,400	Ton	00,00	1,284,000
Grapes - Raisin	197 0	34,105	X	31,292	Ton	278.00	პ , 69 9, 000
	1969	33 , 707	X	31,300	Ton	250.00	7,825,000
Grapes - Wine	1970	6 051	х	98,400	Ton	66.65	6,558,000
Grapes - wile	1969	6 , 854 6 , 746	X	125,000	Ton	38.60	4,825,000
	_/0/	· y 140		12,,000	1011	20200	4,000
Grapefruit - Fresh	1970	99	11.20	1,108	Ton	125.00	139,000
	1969	99	3.53	349	Ton	100.00	<i>34,900</i>
Lemons - Fresh	1970	1,862	10.46	16,440	Ton	262.00	4,307,000
20.000	1969	1,674	12.21	13,286	Ton	216.00	2,870,000
		_					
Processed	1970	X	X	3,040	Ton	63.20	192,000
	1969	Х	X	7,154	Ton	80.00	572,000
Nectarines - Fresh	1970	2,277	11.40	25 , 958	Ton	273.00	7,087,000
	1969	2,285	9.06	20,702	Ton	260.00	5,383,000
Olives - Canned	1970	11,650	2.33	25 900	Ton	214,00	5,543,000
Offices - Caunted	1969	11,224	2•55 3•87	25,900 40,980	Ton	335.00	13,728,000
	_,,,		J • • • •	40,700		227400	
Oil	1970	X	X	1,250	Ton	63.17	78,960
	1969	X	X	2 , 457	Ton	57.50	141,000
Oranges - Navel	1970	42,512	10.63	340,000	Ton	117.72	50,225,000
3 . 3	1969	38,661	11.13	326,344	Ton	154.66	50,472,000
					_		0.14.000
Processed	1970 1969	X X	Х Х	112,000 104,000	Ton Ton	22.00 18.00	2,464,000 1,872,000
	エブロブ	Δ.	Λ.	±04,000	1011	ΤΩ•ΩΩ	000 م) ٥ و ــ
V al encias - Fresh	1970	22,473	9.30	131,000	Ton	152,00	19,912,000
	1969	21 ,31 0	13.99	177,535	Ton	138.66	24,617,000

				Produc		Va	l.ue
Crop 	Year	Harvested Acreage	Per Acre_	Total	Unit	Per Unit	Total
Oranges							
Valencias							
Processed	1970	X	Х	7 7,997	Ton	45.00	3,510,000
	1969	X	X	121,000	Ton	25.00	3,025,000
Limes	1970	5 5	10.90	55	Ton	300.00	16,500
	1969	5	•05	•25	Ton	600.00	150
Peaches							
Cling - Processed	1970	2,683	10.77	28,896	Ton	77.00	2,225,000
	1969	2,790	6.56	18,300	Ton	71.00	1,299,000
Freestone - Fresh	1970	2,227	8.00	15,130	Ton	299.00	4,524,000
	1969	2,159	9.77	16,900	Ton	222.00	3,752,000
Processed	1970	Х	Х	2,670	Ton	51.00	136,000
	1969	X	Х	4,190	Ton	48.00	201,000
Pears & Applepears	1970	29	1.00	29	Ton	350.00	10,200
	1969	9	4.04	36	Ton	169.00	6 ,08 0
Plums	1970	7,972	6.98	Х	х	Х	x
	1969	7,712	5.78	X	X	X	X
Fresh	1970	Х	х	55,000	Ton	239.00	13,145,000
	1969	Х	х	44,355	Ton	373.00	16,544,000
Culls - Processed	1970	Х	x	630	Ton	7,50	4,730
	1969	Х	X	220	Ton	7.50	1,650
Persimmons	1970	194	4.89	949	Ton	279.00	265,000
	1969	169	9.00	1,521	Ton	225.00	342,000
Pomegranates	1970	728	7.20	5,242	Ton	290.00	1,520,000
	1969	679	7.57	5,140	Ton	237.00	1,218,000
Prunes - Processed	1970	2,483	4.11	10,200	Ton	280,00	2,856,000
	1969	2,075	3.06	6,350	Ton	320.00	2,032,000
Pistachio Nuts	1970	139	324	45,000	Lbs.	1.25	56,300
(Dry Wt.)	1969	139	468	65,000	Lbs.	.85	55 , 200
luince	1970	32	7.79	249	Ton	250.00	62,300
	1969	29	11.48	333	Ton	274.00	91,200
Strawberries	1970	X	х	Х	X	X	X
JOT 04 DOT T TOD							

FRUIT AND NUT CROPS: ACREAGE, PRODUCTION AND VALUE 1969 - 70

Crop	Year	Harvest e d Acreage	Per Acre	Produc Tot a l	tion Unit	Val Per Unit	ue Total
Tangerines	1970	912	6.00	5,472	Ton	156.00	854,000
	1969	652	3.88	2,530	Ton	199.00	503,000
Walnuts	1970	16,064	.92	14,779	Ton	440.00	6,503,000
	1969	15,677	.85	13,325	Ton	421.00	5,610,000
TOTAL	1 <i>97</i> 0 1969						200,221,000

NURSERY PRODUCTS: SALES AND VALUE 1969 - 70

Item	Year	Qu antity Sold	Unit	Per Unit	Total
Citrus and Subtropical Fruit Trees	1970 1969	271,000	Each	1.87 2.26	507,000
Fruit Trees	7,70,7	438,000	Each	۷.40	990,000
Citrus Buds	1970	300,000	Each	•07	21,000
	1969	838,000	Each	.07	58,700
Citrus Seedlings	1970	20,000	Each	.12	2,400
G	1969	36,000	${f Each}$.07	2,520
Citrus Seeds	1970	295	Quart	13.00	3,840
	1969	X	X	X	X
Deciduous Fruit	1970	985,000	Each	1.72	1,694,000
and Nut Trees	1969	1,233,000	Each	.97	1,196,000
Grape Vines	1970	791,000	M	88.00	70,000
-	1969	708,000	M	108.00	76,400
Ornamentals and Cut Flowers	1970	Х	Х		121,000
	1969	X	**	.,	694,000
Vegetable and Flower	1970	282,000	Flat	•45	127,000
Plants in Flats	1969	210,000	Flat	•57	120,000
TOTAL	1970				3,046,000
	1969				3,138,000

LIVESTOCK AND POULTRY: PRODUCTION AND VALUE 1969 - 70

Item	Year	No. of Head	Total Liveweight	Unit	Value Per Unit	Total	
Cattle and Calves	1970 1969	349,000 338,000	X X	Head Head	149.00 136.00	52,001,000 45,968,000	
Lambs	1970 1969	1,320 1,280	106,000 102,000	Lb. Lb.	.272 .27	28,800 27,500	
Sheep	1970 1969	1,680 1,600	185,000 176,000	Lb. Lb.	.076 .07	14,000 12,300	
Hogs and Pigs	1970 1969	48,500 49,700	X X	Head Head	43.25 47.48	?,098,000 2,360,000	
Broilers and Fryers	1970 1969	4,948,000 4,726,000	15,815,000 16,750,000	Lb. Lb.	.150 .170	2,372,000 2,848,000	
Other Chickens	1970 1969	310,000 332,000	1,186,000 1,328,000	Lb. Lb.	.040 .082	47,400 109,000	
Chicks	1970 1969	See Misc. Be 6,359,000	low X X	X Each	х •131	X 833,000	
Pullets	1970 1969	1,249,000 1,091,000	X X	Each Each	1.60 1.49	1,998,000 1,626,000	
Turkeys	1970 1969	1,123,000 1,052,000	23,170,000 21,882,000	Lb. Lb.	.223 .221	5,167,000 4,836,000	
Miscellaneous Geese, Pheasants Rabbits, Squabs Chicks and Poults	1970 1969	X X	X X	X X	X X	1,356,000 119,000	
TOTAL	1970 1969					65,082,000 58,739,000	

LIVESTOCK AND POULTRY PRODUCTS: PRODUCTION AND VALUE 1969 - 70

Item	Year	Production	Unit	<u>Value</u> Per Unit	Total
Milk		24000			
Market	1970 1969	8,267,000 7,165,000	Cwt. Cwt.	5.07 4.82	41,914,000 34,535,000
Manufacturing	1970 1969	391,000 377, 000	Cwt。 Cwt。	4.33 3.97	1,693,000 1,497,000
Wool	1970 1969	9,700 8,000	Lb. Lb.	•35 •32	3,400 2,560
Eggs					
Chicken - Market	1970 1969	8,317,000 9,510,000	Doz.	.307 .348	2,553,000 3,309,000
Turkey					
Hatching	1970 1969	8,117,000 7,270,000	Each Each	.240 .239	1,948,000 1,738,000
TOTAL	1970 1969				48,111,000 41,082,000

APIARY PRODUCTS: PRODUCTION AND VALUE 1969 - 70

Item	Year	Production	Unit	Value Per Unit	Total
Honey					-
Orange	1970	714,000	Lb.	.15	107,000
	1969	819,000	Lb.	.13	106,000
Cotton and	1970	476 , 000	Lb.	.14	66,600
Alfalfa	1969	546 , 000	Lb.	.115	62,800
Beeswax	19 7 0	34,000	Lb.	.61	20,700
	196 9	34,100	Lb.	.60	20,500
TOTAL	1970 1969				194,000 189,000

	TOTAL OF MAJOR CROPS		CROP TOTALS
FIELD CROPS			\$ 80,469,000
	Cotton Cotton Seed Alfalfa	22,200,000 5,272,000 25,166,000	
SEED CROPS			96,300
VEGETABLE CROPS			10,820,000
FRUIT AND NUT CROPS			200,221,000
	Grapes Olives Oranges Navel Valencia Peaches Cling Free Plums Walnuts	71,939,000 5,622,000 52,689,000 23,422,000 2,225,000 4,660,000 13,150,000 6,503,000	
NURSERY PRODUCTS			3,046,000
LIVESTOCK AND POULTRY			65,082,000
	Livestock Poultry	54,142,000 10,940,000	
LIVESTOCK AND POULTRY PRODUCTS			46,111,000
	Milk Eggs	43,607,000 4,501,000	
APIARY PRODUCTS			194,000
		GRAND TOTAL	\$4,18,039,000

1950 - 1970

	1950		\$196,819,459
	1951		\$245,462,808
	1952		\$252,727,816
	1953		\$212,975,991
	1954		\$222,542,176
	1955		\$233,612,492
	1956		\$263,403,142
	1957		\$284,308,391
	1958		\$328,584,889
	1959		\$341,645,299
	1960		\$334,012,325
	1961		\$322,770,545
	1962		\$329,094,057
	1963		\$325,848,300
	1964		\$357,335,000
	1965		\$324,221,000
*	1966		\$373,408,000
	1967		\$364,729,000
	1968		\$376,443,000
	1969		\$378,849,000
	1970		\$408,039,000

* Revised